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Would the Shaykh please analyze the word �������  in the following 

sentence from Madinah Book 3: 

 

	
���
 �	������ ������	���
 � 	��� �� ����� �!	"���# �������  

 
I am confused about its being a naʿt of an omitted mafʿūl muṭlaq or a 

mafʿūl of an omitted verb?  
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Dear Br Hassan 
 
 
 

æÜÓé×ÂÝøŠÖ]<<     

 
 
 
 

Your first conjecture is correct. The taqdīr is: 

 

 +,-�"�. �/	"�!� �����������  

 

Here  �-�"�. +,   is the plural of  0���"�. which is maṣdar marrah.  

 

It is like: 

 

 +,����1�� �,���1����2�-�2  
 

The word ������� is naʿt. 

 

Hope this is clear. 

 
 

ÝøŠÖ]æ, 

abdur rahim 
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